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Here is a function machine.
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(a) () Find the output when the inputis 7.
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(i) Find the input when the output is 42
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(b) The inputis x and the output s y.

Write an equation for y in terms of x.

®) @2




image7.png
8

Find the value of 3g —h when g=4 and h=5.
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Solve.
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(a) Simplify.
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Sove  4x=8
Circle your answer.

[1 mark]
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Sove  x-8=5
Circle your answer.
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[1 mark]
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Solve

w-8=19

[2 marks]





image15.png
5 (a)

5 (b)

Solve

n+7=103

[1 mark]

Solve

ol
"
&

[1 mark]





image16.png
Solve  3x=2

Circle your answer.
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5(a Sove  x-3=14

[1 mark]

5(b) Sove  5y=45

[1 mark]

5 (c) Solve B+w=6

[1 mark]
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12 (o)
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Work out the value of  2(a — b)

11 mark]
Answer
Work outthe value of  7a~7b
11 mark]
Answer
Work outthe value of  b—a
11 mark]
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17 Circle the equation which has the solution ~ x=6
[1 mark]
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Solve x-3=0

Circle your answer.
[1 mark]
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a-3=14

[2 marks]
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14 Solve  4(x+5)=15
[3 marks]
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10 (a) Solve 3m =36
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(b) Solve 7-x=3
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(Total for Question 10 is 2 marks)
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1 Write a number in each box to make the calculation correct.
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(Total for Question 1 s 2 marks)
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3 Solve

y=
(Total for Question 3 is 1 mark)
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7 (a) Solve f+2f+f=20

(b) Solve 18—m=6

(c) Simplify d?xd?

(Total for Question 7 is 3 marks)
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